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QUESTION 1

You are performing a full state backup operation of the UCS. Which two data sets are protected? (Choose two)
A. System configuration

B. Server backup data

C. Logical configuration

D. Configuration XML

Correct Answer: AC

QUESTION 2

Click the Exhibit button.

-- Exhibit -vsan 1 information name:VSANOOO1 state:active interoperability modE. default loadbalancing:src-id/dst-id/
oxid operational state:down

-- Exhibit -Referring to the exhibit, which statement is correct?

A. VSAN is able to pass traffic.

B. VSAN is not able to pass traffic.

C. At least one port on the VSAN is up.

D. VSAN is disabled.

Correct Answer: B

QUESTION 3

You are using expandable resource pools in your VMware cluster to ensure each environment is allocated the
appropriate resources. There is a resource pool for your development environment that has a reservation of 5 GHz CPU
and 12 GB of memory. There is a child resource pool of the development resource pool named Sandbox that has a
reservation of 1 GHz CPU and 4 GB of memory. You create four new virtual machines with 4 GB of memory in the
Sandbox environment.

In this scenario, which statement is true?

A. Only one of the new virtual machines will power on.

B. All new virtual machines will power on.

C. Only three of the new virtual machines will power on.

D. No new virtual machines will power on.
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Correct Answer: B

QUESTION 4

Your Vblock® System 720 was set up with a FAST VP policy of 100% EFD, 100% FC, with 100% SATA, and then
applied the policy to all the storage groups. You have allocated all thin LUNs from the Fibre Channel pool and would like
to ensure that all but 10% of the EFD drives can be used by the FAST policy.

Which setting would you use to accomplish this task?

A. Adjust the Pool Reserved Capacity to 10.

B. Adjust the compression rate to 10.

C. Adjust the Data Movement Mode to 10.

D. Adjust the Relocation Rate to 10.

Correct Answer: A

QUESTION 5

An application can no longer access its allocated storage on a Vblock® System 340.

According to Cisco MDS troubleshooting guidelines, which action would be used to investigate the problem?
A. Enable system message logging.

B. Use Unisphere to view fabric problems.

C. Determine if the host has ever been able to see VNX storage.

D. Determine if the host recognizes any LUNs in the VNX storage system.

Correct Answer: D
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